REV DATE PESCRIPTION
' SHAP LATCH ENGAGES
CLOPAY COACHMAN SERIES: CPrn, HPan, CGnn, CXan GNTO VERTICAL TRACK. SUIDE BOLT 06 | 05/2005 | UPDATED CODE REFERENCE
ONE SNAP LATCH ON oND LOCK ENGAGES END g
£ACH SIDE OF DOOR. STILE NTO VERTICAL SrLE 07 06/2008 ADDED ROLLER OPTION
HOLMES SETTLERS SERIES: SXen WER, STLE TRACK, ONE e 08 | 02/2006 | ADDED CG, CX, AG, SX MODELS
LOCK ON 08 | 08/2008 | ADDED IMPACT RESISTANT TEXT AND A/B DRAWING NUMBER
IDEAL AFFINITY SERIES: AGnn BACH SIDE  gyrspe : ;
OF DOOR. 10 10/21/08 ADDED PUSHNUTS
outsioe Keven —3 bty e 1% 02/10/12 UPDATED WINDCODE CHART
NOTE: "nn" REPRESENTS THE ARRANGEMENT OF THE DECORATIVE HANDLE STLE INSIDE._SLIDE BOLT LOCK BAR h
OVERLAYS. THE FIRST DIGIT WL HAVE A VALUE FROM 1 TO 3 AND WSIDE HANDLE LOCK OFTION ToACK O\ 12| 08/21/12 | REVISED FOR DI
THE SECOND DIGIT WILL HAVE A VALUE FROM 1 TO 5. QUTSIDE KEYED LOCK OUTSINE KEYED LOCK EACH 3IDE 13| 06/05/13 | ADDED MAX GLAZING SIZE.
' LOCK BAR [QCKING OF DOOR.
ALL WINDOW DESIGN OPTIONS AVAILABLE
» STOP MOULDING 8Y DOCR
_...,[ (1/8" DSB MIN), WINDOW SECTIONS SECT C—C INSTALLER (T0 SUIT) HORIZONTAL TRACK SUPPORT BY
!,-\ g SUPPLIED WITH TWC U:BARS.“ DOOR INSTALLER (TO SUIT)
z MAX GLAZING SIZE: 46" x 6% T 16 GA. MIN. GALV. STEEL END STiLE TRACK CONFIGURATION ABOVE THE DOOR OPENING
- 7 e I s DOES NOT AFFECT THE WIND LOAD RATING.
[CRA = = : B S ST Troon 13 GA. GALV. STEEL FLAG BRACKET
ne l JAMB WITH ONE 5/16"x1-5/8" 14 GA. MIN. GALV. STEEL CENTER HINGE EACH FASTENED TO WOOD JAME WITH
= - - - WOOD LAG SCREW PER BRACKET. FASTENED TO BACK OF DOOR W/(4) (3) 5/16™x1~1/2" WOOD LAG SCREW.
gy " 7/16" ROUND PUSHNUT  EACH #14x5/8" SHEET METAL SCREWS.
Gz |8 i\ : 2" GALV. STEEL TRACK i INSTALLED ON_ EACH F1ax5/ TRACK CONFIGURATION S
2 P « ¥ FASTENED TO TRACK BRACKETS. ROLLER SHAFT, | oo T W0 o
A | FACH BRACKET ATTACHED WITH ONE T NQTE: DOUBLE TRACK E—E¥ F: 7
Sh 1/4"x5/8" BOLT & NUT OR 14 GA. GALV. STEEL ROLLER HINGE g LOW HEADROOM IS i i 4 73
By o , TWO POINT LOCKING TWO 1/4" RIVETS. FASTENED TO END STILES W/(4) EACH e | AVAILABLE AS AN OPTION Vi 2 £
& Ja INTO TRACK #14x5/8" SHEET METAL SCREWS AND % = =0 1
25 . (4) 1/4"x3/4" SELF TAPPING SCREWS. S ) B 2 5
E% MOUNT THIS STRUT OVER ROLLER STEM i AR I :W . ) g
7 ICKNESS: 060" =
Z 2" 10 BALL SHORT STEM STEEL ROLLER e RACK THICKNESS: .0€0 e &
= WITH STEEL OR NYLON TiRE g ; =0 ] %g_
it ey =t fd 'l 36
Y . 4 2
I 2 I~ TvP. 2-1/2'x12 GA. GALY. [T s
i & STEEL TRACK BRACKETS. T8, 7 22
MAX. DCGOR WIDTH = 9'~0' | e 27 THICK BASE DGOR & DISTANCE BETWEEN BRACKETS [ii—e* 5 3
NSIDE_ELEVATION . ” ToG"
DECORATIVE PVC OVERLAYS AOMERED 2-5/8" END STLE THICKNESS NOT TG EXCEED 307 O.C. M= 8 — e
EQUIVALENT SECTION CONSTRYCTION: FOR ANY OF THE MODELS TO OUTSIDE SKIN WiTH PERMANENT . . X T & 157
LISTED ON THIS DRAWING, THE FOLLOWING W~LEVEL DOORS USE ADHESIVE. _ : 12 GA. GALY. STEEL ; MAX SECTION
EQUIVALENT SECTIONS (UP TO THE MAXIMUM WIDTH ALLOWED ON : H; : HEIGHT 24"
THIS DRAWING). { 97 GA. STEEL MIN. INTERIOR & EXTERIQR SKIN WITH - / Eggﬂgkkgﬁgﬂ”‘c“a kb &
W6, W8. 7T 5—40 GALVANIZING, BAK%O—ON ppig%ggg 7 TachED W (&)
ANY OF THESE W-LEVELS MAY BE SHOWN ON THE OPTIONAL AND A BAKED-ON POLYESTER PAINTED TO ) 4#14x5/8" SHEET METAL
SHIPPING LABEL ON THE END STILE. SCREWS.
N THE . CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING 4) 14 " SHEET
EOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES: ( )M%A?_ﬁégREWS %%Enggﬁ% E{)EF%\(I)S;E | gégfg%g
1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPEMING AND 2X6 SOUTHERN
YELLOW PINE WOGD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TQ LAMINATED TO 80TH EXTERIOR AND Oy REQUIREMENTS OF THE T BUBING GODE
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTAGHED INTERIOR SKINS oA r et Bur DG GODE BUT DOES NOT MEEF THE
BIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAL BELOW. THE CENTER OF O T eTANT REUUMEMENT FOR WINDBORNE DEBRIS
SCREW HOLE MUST BE AT LEAST %' FROM BOTH EDGES FOR A 5/16° LAG SCREW. REGIONS (REF. CHAPTER1E FRC/IBC) '
2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE (WOOD
&w&%DMgﬁgEﬁﬁL&A%xDe Fﬁm&ggRﬁﬂzE%Lﬁ%ﬁlﬁéNﬁsﬁ?gQI'H%US:KMSVE'?TASC%EN$E . » F 14 GA. GALV. ?HIS DOOR MEETS OR EXCEEDS THE DESIGN LOADS FOR THE
FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT FASTENERS MUST BE OF %?Pglﬁé xgé/:awgﬂ TONGUE AND GROOVE JOINTS. EJ;ES; R%‘é—gR WIND SPEEDS LISTED BELOW ACCORDING TO THE FLORIDA
A SUFFICIENT INCREASED LENGTH TG ACCOUNT FOR THE THICKNESS OF THE N oo BLOG. CODE OR IBC (ASCE7) FOR THE FOLLOWING
WALLBOARD TO ENSURE PROPER FASTENER EMSEDMENT INTO THE STRUCTURAL 14 GA. END HIN 14 GA. INTERMEDIATE HING CONDITIONS: 1) ENCLOSED BULDING, 2) DOOR HAS 2' OF
FRAMING MEMBERS OF THE SUPPORTING STRUCTURE. WIDTI¢ [N BUILDING'S END ZONE, 3} IMPORTANCE FACTOR OF
\_ 1.0, 4) ROOF SLOPE LESS THAN 107, AND 5) 50% SAFETY
| [T FROMERSE g;EEEOuE%AgALVéNE ;:‘“gﬁ%-: (5) GONDITIONS ARE. NOT MET. A UCENSED
y ENGINEER SHOULD BE EMPLO Q0 DETERMINE IF
NOTE: THE DESIGN OF THE SUPPORTING U—BAR PER DOGR
STRUCTURAL ELEMENTS SHALL BE THE 13 GA. GALV. STEEL BOTIOM BRACKET. SECTION, EXCEPT PRODUCT MEETS THE REQUIRED WIND SPEED.
™ , RESPONSIBILTY OF THE PROFESSIONAL OF ATTACHED WITH (2) #14x5/8" SHEET METAL SCREWS. TWO ON BOTTOM wWIND SPEED (MPH)! <120 [130 | 130; 140
AND N ACCORDANCE WITH CURRENT BUILOING SECTION, ATTACHED EXPOSURE LEVEL |B or C} B c g
CODES FOR THE LOADS LISTED ON THIS WITH (2) 1/4"x3/4 MEAN ROOF HEIGHT| 30 30" | N/A| 30
DRAWING. PR ——— LHR TOP BRACKET SELF TAPPING
WKW & TWSED SER {ENDSS). DOUBLE HORIZONTAL SCREW AT EACH
PREP F v HINGE LOGATION.
TRACK
\
VERTICAL JAMB ATTACHMENT (WOOD FRAME SUILDINGS): b/ ALUMINUS
3/8"3" LAG SCREWS ON 24" CENTERS. 1-1/8” O.D. WASHER REQUIRED. LAG SCREWS Ve EXTRUSION
MAY BE COUNTERSUNK (BT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE. UBLE TRACK = N _
HORIZONTAL JAMES DO NOT TRANSFER LOAD- ROOM_OPTION WEATHERSTRIP. DESIGN LOADS: +38.0 P.S.F. & —42.0 P.S.F.
ERTIGAL JAME ATTACHMEN] 90 BLOCK R 2,000 PSI MIN, CONCRETI Mg TEST LCADS: +57.0 PS.F. & —63.0 PS.F,
3/8"%5" SLEEVE ANCHOR BOLTS ON 22" CENTERS (2,000 PSI MiN. CONCRETE).
WASHERS INCLUDED WITH SLEEVE ANCHORS. { (/a ch tv?uaf%; . EEPER—— T
1/473" TAPCON SCREWS ON 22" CENTERS (2,000 PSI MN. CONGRETE) OR 28" ' - syt -
CENTERS (C—90 BLOCK), 1 0.D. WASHERS REQquEo}wer TAPCONS, a CLOPAY BUILDING PRODUCTS COMPANYhe— W6 9’0" x 16'0C
ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING RIPTION
SURFACE, HORIZONTAL JAMBS DO (o7 TaNsFER- LoAD, : - : : 8585 DUKE BOULEVARD 7/28/04 DESC '
DESI(?{I;% ENGINE[—;R;MARK WESTERFIELD, P.E. L. CINCINNATI, OH 45040 IRAWN BY! BFA 2" £PS W/OVERLAY +38/—42 PSF DESIGN
OTHER_JAMB_CONFIGURATIONS: REFER TO DASMA TDS—167. A LICENSED DESIGN y Eléoié‘ ;'2%8?,8 9%, Bulidmg Products (513) 770—-4800 CHECKED BY B DRAWING NUMBER: VER!
PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/CR i < '
JANE CONFIGURATIONS. TEXAS P.E. #91513 Com pany Clopay Corporation All Rights Reserved. 103223 i






